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Student: Instructor: Joe Betters

Date: ) Course: Pre-Calculus Pre AP (Master Assignment: 9.7 Classwork Day 1
' Course)

1. Find the value of the given determinant.

ABC
413
141

ABC

413|=

141

(Simplify your answer.)

ID: 9.7.11
2. Find (@ vxw, (b)wxv, (c) vxv, and (d) wxw.
v=i-2j+3k w=2j-k
(@yvxws= {Type your answer in the form ai + bj + ck.)
{(bywxv= {Type your answer in the form ai + bj + ck.)
{fc)vxv= {Type your answer in the form ai + bj + ck.)
{d}wxw= {Type your answer in the form ai + bj + ck.)
ID:9.7.19
3. Find u = (v x v) forthe given vectors.
u=2i-3j+k, v=-4i+4j+2k
ux{vxv)=ai+hj+ck where
a= ., b= , andc= .
(Type exact values, in simplified form, using fractions and radicals as needed. Type 1, — 1, or 0 when appropriate, even
though these values are not usually shown explicitly when writing a vector in terms of its components.)
ID: 8.7.39
4. Find a vector orthogonal to both uand j + k.

u=2i-j+3k

Which of the following vectors is orthogonal to both u and j + k?
O ~4i+2j+2k

O 2i-4j+2k

O 2i+4j+2k

O -4i-2j+2k

ID: 9.7.43
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5. Find the area of the parallelogram with vertices P, P, P53, Py

P, =(133), P,=(125), P3=(-20,-2), P,=(-2,-10)

The area of the parallelogram is square units.
{Simplify your answer. Type an exact value, using fractions and radicals as needed.)

ID: 9.7.49
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1. =11A-B+15C

2. -4i+j+2k
4i-j-2k
0
0

o o O

4. -4i-2j+2k

5. 4168
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